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I. (i). Prove that the fourier series of the function which is equal to x* in (-r, ) is
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(ii). Prove that the Fourier series of the x” in (0, 2m) is 4z + Z(iz cosnx — fﬁsin nx)
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Calculate the sum of this series for x =0

2. Find the Fourier series of function f(x) = x + x> for -n <x <, Hence show that
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4. Obtain a Fourier series for the function f(x) = [ sinx | where-z <x< 7z
Sketch the graph

5. If f(x) = cos pux in -7 < x < 7t () not an integer, show that,
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Hence show that z = =—-""
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6. Expand f(x) = | COoS X |in a Fourier series in the interval (-, 1)

Please send your answers on or before 2006 to the following address
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4) Function is even & period =. Consist only cosine terms
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(6) Since function f{x) is an even function
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